Virginia High School League Regional Competition, 2000-01 season

Match #4


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
THIS IS A COMPUTATION QUESTION. A yardstick, when held upright, casts a shadow of 2 feet. A flag pole has a shadow that measures 16 feet. How tall is the flagpole?

ANSWER: 24 feet (2’ shadow:3’ yardstick = 16’ shadow:X’ flagpole yields 48 = 2X, giving 24 = X)

2.
In a land ravaged by a deadly plague, a prince retreats to his castle with a thousand knights and ladies, holding a masquerade ball. However, one among their number turns out to be the plague itself, and one by one, the attendees at the ball dies. This is the plot of what novel, featuring Prince Prospero, written by Edgar Allan Poe?

ANSWER: The MASQUE OF THE RED DEATH 

3.
What resolution that was “the functional equivalent of a declaration of war” was passed on August 7, 1964, declaring support for the President ‘to take all necessary measures to repel armed attack against armed forces and to prevent further aggression’, a precursor to the Vietnam War?

ANSWER: GULF OF TONKIN resolution

First period (continued)

4.
What name is given to the alteration of landforms through the removal and transport of soil and rock by wind, water, gravity or living organisms, a problem apparent in maintaining our topsoil layers?

ANSWER: EROSION
5.
What is the name Greek restaurants give the delicious combination of rice and ground beef wrapped up in grape leaves?

ANSWER: DOLMADES
6.
The Long March rocket is part of what country’s attempts to join the US and Russia as nations that have sent people into space?

ANSWER: CHINA
7.
Take a carbon atom. Put a hydrogen atom on one side, a carboxyl group on another, an R-group on the third and the ion for which these compounds are named on the fourth side. There are 24 different R-groups that can be used to create the important ones. What are these compounds, so important in protein synthesis?

ANSWER: AMINO ACIDS (accept alpha-amino acids)

8.
What part of speech modifies an adjective or another one of itself?

ANSWER: ADVERB
9.
Emile Zola’s letter J’Accuse! (ZHAH-kuse) was written on behalf of what man falsely sent to Devil’s Island for treason, an army captain largely convicted because he was Jewish?

ANSWER: Alfred DREYFUS
10.
THIS IS A COMPUTATION QUESTION. An insurance policy charges 85 cents a month per $10,000 of policy value. What is the total monthly charge for a man who buys $250,000 worth of insurance?

ANSWER: $21.25 (250 * .85 = $21.25)

11.
THIS IS A COMPUTATION QUESTION. The arc of a semicircle is 20 PI inches. How many inches was the radius of the original circle?

ANSWER: 20 inches

First period (continued)

12.
Who was the composer of the grand opera Ivanhoe, and the composer, not lyricist, of comic operas such as HMS Pinafore and The Pirates of Penzance?

ANSWER: (Sir) Arthur SULLIVAN (DO NOT ACCEPT W.S. Gilbert, he was the lyricist, and do not accept Gilbert and Sullivan)

13.
This city is the second-oldest city in Georgia, as well as the second-largest city in Georgia, with 450,000 people. What is this city located midway along south bank of the Savannah River, most well-known for a golf tournament that occurs there annually?

ANSWER: AUGUSTA
14.
This creature was once a Hobbit, but when he discovered the Ring, he was made near-immortal. Who is this creature who falls into the cracks of Mount Doom with the Ring, and from whom Bilbo Baggins stole the ring in The Hobbit?

ANSWER: SMEAGOL or GOLLUM

15.
The theory of this radiation holds that black holes slowly evaporate into photons and other particles, finally exploding in a burst of gamma rays. What is this radiation, named for the Cambridge physicist that first suggested it, that emerges continuously from black holes?

ANSWER: HAWKING radiation

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What king of England lost his head over the English Revolution?

ANSWER: CHARLES I
1B.
Who wrote the novel Bleak House?

ANSWER: Charles DICKENS
2A.
What American poet is chiefly known for his 12-line poem, Trees?

ANSWER: Alfred Joyce KILMER
2B.
What name was given to the lower classes during the Roman Republic, a social order constantly struggling with the partricians?

ANSWER: PLEBEIANS
3A.
THIS IS A COMPUTATION QUESTION. What is the sum of the angles of a regular dodecagon?

ANSWER: 1800 degrees (180 degrees times # of sides – 2, which is 180 * 10 = 1800

3B.
Jesse Jackson was arrested with several death-penalty protesters outside a women’s prison in what state, where Governor Frank Keating is decided to execute mentally handicapped Wanda Jean Allen?

ANSWER: OKLAHOMA
4A.
Who is the premier of Quebec that resigned on January 11 from his position as premier and as head of Quebec’s Parti Quebecois?

ANSWER: Lucien BOUCHARD
4B.
How many orbitals can be contained in a p-subshell?

ANSWER: SIX
Second period (continued)

5A.
What atomic structure model, named for the Danish scientist who suggested it, had electrons orbiting the nucleus in much the same way that planets orbit the sun?

ANSWER: BOHR model

5B.
THIS IS A COMPUTATION QUESTION. After the number 9847, what is the first number that the number nine divides evenly?

ANSWER: 9,855 (The number 9847 divides into 9 with a remainder of 1. Then add 8 to yield the next number that divides evenly by 9.)

6A.
A home mortgage that uses the portion of the home that has already been paid off on their first mortgage is given what name?

ANSWER: EQUITY
6B.
What word from the Latin for ‘after flood’, refers to something from after the Biblical flood?

ANSWER: POSTDILUVIAN
7A.
Philately is the collection of what objects for fun and profit?

ANSWER: STAMPS
7B.
Loss of normal social inhibitions, hyperactivity, elation, accelerated thought and speech are all followed by feelings of worthlessness, disturbed sleep and loss of energy. This is a description of what severe mental illness?

ANSWER: MANIC DEPRESSION psychosis or BIPOLAR disorder

8A.
For what positive measurement between 0 and 360 degrees are the sine and cosine equal and negative?

ANSWER: 235 degrees

8B.
Niccolo Paganini is most often associated with what musical instrument?

ANSWER: VIOLIN

Second period (continued)

9A.
What French artist composed Still Life With Peppermint Bottle and Bathers at Rest?

ANSWER: Paul CEZANNE
9B.
What is the common name given to a suspension of magnesium hydroxide that is used as an antacid to soothe an upset stomach?

ANSWER: MILK OF MAGNESIA
10A.
Although the gall bladder stores bile, what other organ actually produces it?

ANSWER: the LIVER
10B.
What type of sum, named for a German mathematician is used to approximate integrals?

ANSWER: RIEMANN sum

Third period: 15 toss-ups

1.
What Egyptian god of magic measured the heart of the deceased against a feather, a god with the head of a jackal?

ANSWER: ANUBIS
2.
He eventually became an American citizen and married a daughter of George Clinton. However, the summer of 1793 was made chaotic by his presence, as he was using American soil to arm French privateers. 2.Technically he was in the United States to win U.S. friendship and negotiate a commerce treaty but by August 2, the Cabinet had tired of his actions and demanded a recall. Who was this French ‘citizen’?

ANSWER: Citizen GENET or Edmond Charles GENET
3.
What is the tendency of an object to remain in the same state of motion called?

ANSWER: INERTIA
4.
A man is insane if he willingly flies more combat missions, but if he makes the necessary formal request to stop flying combat missions, that means he is sane and therefore is able to fly more missions. What is this novel starring Captain John Yossarian, written by Joseph Heller?

ANSWER: CATCH-22
5.
What term is given to a structure with a pointer variable in it so that the pointer references the another instance of that structure, creating a type of ‘list?’

ANSWER: LINKED list

6. Who wrote the Xanth series of fantasy novels?

ANSWER: Piers ANTHONY
7.
THIS IS A COMPUTATION QUESTION. A worker who gets paid $15 an hour spends 3 hours a day goofing off. Over the span of 12 five-day workweeks, how much has he cost the company?

ANSWER: $2,700 (3 * 5 = 15 hours of goofing off, 15 * 15 = $225, $225 * 12 = $2,700)

Third period (continued)

8.
Her story is told in Mark, chapter 6, verses 17 through 28. The head of John the Baptist was brought to her by Herod Antipas. Who is this woman that had so charmed Herod Antipas by her dancing?

ANSWER: SALOME
9.
What was the name given to William Taft’s foreign policy of increasing U.S. trade by supporting American enterprises abroad, including Latin America and the Far East, so named for the ‘agents’ that would be used in diplomacy?

ANSWER: DOLLAR diplomacy

10.
What name is given to a region of the earth, most often around deep-sea trenches, where one tectonic plate of the Earth is forced down beneath another, and moves down into the mantle?

ANSWER: SUBDUCTION zones

11.
It was discovered by Berzelius in 1818 and named for the Greek word for moon. This element is a semi-conductor which is sensitive to light, and is thus used in applications such as light sensors and copying. What is this element with atomic number 34 and symbol Se?

ANSWER: SELENIUM
12.
What novel by W. Somerset Maugham (MAWM) is about a medical student, Philip Carey, who has a clubfoot and marries Sally Athelney?

ANSWER: OF HUMAN BONDAGE
13.
THIS IS A COMPUTATION QUESTION. If the apex angle of an isosceles triangle is 48 degrees, how big are the other two angles?

ANSWER: 66 degrees (180 – 48 = 132, 132 / 2 = 66)

14.
Director and star Orson Welles changed the story slightly so the man on whom it was loosely based, William Randolph Hearst, would not sue him. At the beginning of the movie, the title character dies alone in his mansion, Xanadu, and the rest of the movie concerns his meteoric rise to power. What is this 1948 movie ranked at #1 by the American Film Institute’s Top 100 list?

ANSWER: CITIZEN KANE

Third period (continued)

15.
After deposing Milton Obote in 1971, he became president and ruled for eight years, murdering thousands and expelling hundred of foreign nationals. He was overthrown in 1979 and replaced once again by Obote. Who is this former president of Uganda?

ANSWER: Idi AMIN
Spares

The first American to win the Nobel Prize for Literature, doing so in 1930, his only post-1930 work to live up to the standards of his earlier work was It Can’t Happen Here. Who is this author of other books such as Dodsworth, Elmer Gantry, Arrowsmith and Babbitt?

ANSWER: (Harry) Sinclair LEWIS
Commodore Matthew Perry is best known for the 1853 expedition that opened up what country to foreign trade, a country that had been closed for 250 years previously under the Tokugawas?

ANSWER: JAPAN
THIS IS A COMPUTATION QUESTION. What number is 80% of 155?

ANSWER: 124 (155 / 5 = 31, 31 * 4 = 124)

What collective name is given to the disorders that occur when antibodies are produced that attack and destroy the body’s own tissues?

ANSWER: AUTO-IMMUNE diseases or disorders

What Renaissance painter was a Domenican friar whose name means “Angelic Friar” and who painted Noli Me Tangere (tan-JAY-ray) and Stoning of Saint Stephen?

ANSWER: FRA ANGELICO
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